
Integrated Radio Electronics ETI 170

Solutions exercise 4 (Noise)

1. Problem 10.6

 b. Use amplifier A and transform to 200kΩ. (Also without transformer, A gives less noise)

2. Problem 10.9

3. Problem 10.11

The total noise only depends on C (independent of R). This is an important result for switched

capacitor circuits.
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4. Problem 10.12

First study the single-ended case:

Now move on to the differential one:

Result: The optimum differential source resistance is twice the optimum single ended resist-

ance, and the minimum noise figure is the same in both cases.
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